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Go pay him a proper axe — NYPR K303 70 avhw 9T

OVERVIEW
21 ruled regarding one who broke a borrowed axe, that he is required to pay for a
proper axe. There is a dispute between >"w2 and N1901N as to this ruling.

- HNIY YV 1515 D992WH1 1Y 110 NINN NOYII X)) 1090372 WIS
»"w4 explained; the "X should give the >Xw» another proper axe, and the
broken pieces of the borrowed axe belong to the Xw.

mooIn disagrees:
= P13 195 19290 $199Y 19195 ¥NIWN 215 23 1DANT ININDY 139299 AN PPN)

And the 0"2wn disagrees, for it seems that even a thief or a robber can pay

with bran, just like one who damages -
= 4291917 YWY 17 3MANRD 1919 (x,n 91 NP NA2T NP 7992 19999N1

As 172X ' stated in the first P99 of p''2 ndon that they are all like the naR to pay

from the choicest -
- 15592 15T 20 MAN AN DIV VI

The explanation of 1713 refers to the twenty four max of n"1; and a 37131 213 are

included in these twenty four max -
= 519210 ¥99% 19 DN P MITYNT JI1 23) DITYN NN NNON

It is evident that 172X "7 compares the payments of a 3" to the payments of
damages, so therefore (even a 3" and certainly) a X1 can pay even with bran!

moon offers an alternate explanation of X5y Xa1:
— 9991 NOYYN NI DOWNT HNINY 13939 291 WH90)

And the 0"2w" explains that X°5¥» X391 252» means -

'See >"w on X7 7"7 X,7X.
2 We obviously should be stricter with a 3" (who stole) than with a 9% (who was [merely] careless).
3 The first 71wn in p"2 stated that there are four primary categories of damagers (P13 Max). The X773 (on 2,7) adds
that according to X°ywIR " there are thirteen Pp°11 My, and according to X*11 " there are twenty four 7"p°11 maR. "™
172X explained that they are called 1’11 maR even though they have no m1721n, because they are like 1p°13 Max that
the P 11 pays avn.
4 The 7Mn writes regarding the P> of 2371 12 (in 7,25 [Dvown] NMWw) that 09w in72 20> 17TY 200, We derive from
this that if the P> wants to pay for his damages with land, he must offer the P11 the choicest of his properties.
However if he wishes to pay with 120501 he can pay with any 1"2u%0n since all P2u5%un are considered 2v°n (they can
be sold easily). See ‘Thinking it over’.
5 See footnote # 4 that if one pays with 720701, one can pay with anything, even bran; therefore the 7% can pay
back the 2°xwn (partly) with the broken pieces, and the rest with whatever he chooses. He certainly does not need to
buy him a new axe!
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= SHNIWY N P72 NIYN NYY 1Y NAYN NYYN HHINY DNaNY
That the depreciation which the broken pieces of the axe became cheaper from

the time of the breaking until coming to 7''>2, that loss is on the "X -
=99 235D 29 DY MNTNT NODYN NI MYV TY 172 NTIYN NYYWI N92AWN HY 9201)

So the "X adds additional payment to the value of the broken axe as it is worth
at the time of 72 m772wm, until it is worth the price of a X°®p» X3m1, for 21

compares the YX7W to a 3" -
= PPIIY NIN 1ITID NDY 2D XD 7P0Y PRT (v 97 NP NI2T NP 7992 ININY 9INT

For X2 ruled in the first p=2 of p''2 noon; that we so not assess neither for a

213 nor for a 3713, only for damages -
- HNNYT NINYIAN 297 NN Y10 0NN $PRY PN INIYY GRT 19D TN 29

And 27 maintains that we do not assess even for a »Xw, and the X3 there
cites this ruling of 29 (that X°%¥n XK 72 %W 971), in the context of s™Xmw

ruling that 3" X% Prw PX -
= 1055 991937 N33 HN9A N3 HIYH BNN Y9N NAYNN Y

And the all the rulings there, were previously discussing that the depreciation
of the carcass is on the P1i.

In summation; according to >"w2 when 27 ruled X°5vn X371 % 29w 91, it meant that the PXWw
keeps the broken axe, and must pay the 2°Xwn a new axe. According to N0 it means that he
may return the broken pieces as partial payment, but will receive credit only for its current value,

6 Let us assume the axe was worth ten dollars; the broken pieces were worth initially (at the time it was broken)
three dollars. At the time of 1°72 772¥7 it is worth two dollars. The ?XW can return the broken pieces for a two dollar
payment and must add another eight dollars for the total payment. The 7Xw loses the dollar which the axe
depreciated between 72w nyw and 172 A7AYT DYW.
7w 7R means that if someone stole something and the item broke and then depreciated in the possession of the
3", we do not assess (7w 7°R) the current value of the stolen item and allow the 3™ to return the depreciated item
plus the depreciation, but rather the 211 keeps the depreciated item and must pay the owner for the full value of
stolen item. However by 1°"P11 we are 1w as the 7mn writes (in 77,82 [2°vown] nwaw) that 12 77> niam, that the pra
keeps the 7721 and also suffers the loss of depreciation from the time of the P11 until the 1972 77297
8 29 did not say so explicitly in the X »3 there, rather the X3 there (initially) cited the ruling of 27 here saying 71
X*H9un K371 72 29w as proof that 21 maintains 1w X 2R A& (the X3 there reverses its view).
% The x»3 there (beginning on 3,%) explains that the P02 of Y2 7 nam (see footnote # 7) teaches that not only that
the carcass belongs to the P11 (meaning that the P>t only pays the difference between the value of the live animal
and the n%°21) , but additionally if the 177721 loses value from the time of the P77 until the 1972 777, that loss is also
suffered by the pri. So if the live animal was worth one hundred 11 and the 79223 at the time of the pron was worth
forty 171, and 172 ATV NYW1 it was worth thirty 117 the >t pays only sixty 11 (100-40), but not seventy 17 (100-30);
the P11 loses the extra ten 117 of depreciation.
10 mpoin is saying that since the X3 leading up to PXmw and 21 was discussing 7721 nmo (see footnote # 9),
presumably PX1mw and 27 are also discussing the nmo. Therefore when 27 rules 1w PR 2XW5 Ax (not like Ppo1), it
means that the R suffers the loss of depreciation (if the cow died and it depreciated until 172 772¥7); the X may
return the 779°21, but he will only be given credit for its current value (not for its former value when it died).
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but not for its (higher) value at the time of breakage.

Moo continues to explain the X73:
= 11510 DINYN MY D293WT 251 NI*T SYON 291 XIND 29 7D 199N

And SoR 271 2712 29 said to 20, “is this the ruling’ (that the 5Xw should suffer the
loss of depreciation)?! For these broken pieces depreciated in the possession of

the lender, so the 2°Xwn should suffer the depreciation -
= 12995399 N1 MHPWA NP 29190 23D 19T 199 1N KD INIYWY

Since a X is not like a 913 (Where we say 1m0 PR, but he has to repay the entire
item completely), for a 913 acquired the stolen item through the change of

either dying or breaking, however a “xw is not mp the A2xw if it dies -
= 9%V NYYWA 1Y 0293V 10 D199 1D 199 2920 NIV 1Y 91171 191D

So therefore concludes the X713, the Y81 returns to the 7°Xwn the broken pieces

and we assess how much were they worth at the time of breaking -
- DI 13 DINUNT HND 51 2N 33T 1YY XYY’

And he pays the difference up to the original value of the utensil, so the loss of
depreciation is on the »xw» just like it is on the pa.

mooin offers a slightly differing opinion:
= 13019 N9DT NI 1DIAN NPT WD) 9P0INY NIN 9INN )2 PNYY 13929 W99 199

And the 2''2" also explained it so (like the 0"2w"), however he added and

explained that 27 and "OX 271 X375 27 argue even when there is no depreciation -
= NODYN NI 90T I9 OIYIY I PAMD HNIYW MY D5 9avIv 24T

So that according to 29, since the utensil broke in the nw1 of the 8w, we

advise him initially that he should pay the value of a new axe -
- DYW PAVNA DY9aVN DYYY N8I ONX DIPN Y1) D9aUN YUY IMN 115997 )N)

But we do not teach him to pay partially with the broken pieces. Nevertheless,

if he wants to pay on account with the broken pieces, he can pay with them -
- HRUN MY DNY 113 0393WN BYYY IMN 1599 SON 2991 N3N 2495 Yax

However according to "oR 291 X172 29 we inform him to pay with the pieces,

' A xw has no intention of acquiring the object as his own, he is merely borrowing it for its usage; as soon as he
can no longer use it (it broke) it goes back to the mw~ of the ?°Xwn, therefore the depreciation is the loss of the
DRWN.
12'A 213 intends to keep the item for himself, so granted that it is not completely his if the item is intact; he must
return it to the owner, however as soon as its status changes; it dies or is broken, it belongs completely to the 213 (he
cannot return it to the owner as is, but rather he must pay for the full value of the item), therefore the loss of
depreciation is on the 21,
13 Presumably it is not usual that the broken pieces of an axe should depreciate between the P11 and 172 77297 (as
opposed to a 72°21 where it is a given).
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since they are » Xw» nwaa.

mooIN anticipates a difficulty:'*
=919 XYY 200D ND 120V PRY 12319 217Y19%2 9INRT NI

And this which it states in %2y 77150; ‘from where do we know that JP»w PR

not for a 213 and not for a 1913 -
= 15051 N9 1505YW 02Y 0N YNN 93 NAN 2329 9N

So ®1a% "2 R'"7 said it is written 25w 271w 27, but not dead ones -
= 1753 QUN AYN [HN] 22WNI 112 2329 9N 1231 NHITHIA N2 INS 1Y

So far we know that 1»w X by 723%13, from where do we know 1»w 1R by 799132
12 ' answered it is written and he shall return the 773 which he robbed’ —

mooIn responds:
= 19290 XD NINNK NN YNN 0N 1Y OHYIY 13991 INY

This does not mean that he must actually pay him with another live animal

and cannot pay him with bran -
= DAY D DN NN DN DY OXY DIV DIV DN 9INP 991 NN

But rather this is what the »5w1 teaches that the P05 means 25> 212 2%7;
that if the stolen animals are still alive and they depreciated in value (because

of market conditions), he may return them as is -
- NND 19%Y 7298 180259 19MN Yax

However if they depreciated while dead, he must pay for the depreciation —

mooIn offers an alternate explanation of the "n%w:
= 2NV PYI 1IPY NINN (v,n0 97307 xa3) D HND XD DHWN J5N DHYWIY 10N »m) N

Or you may also say that [@»w"] @%w 2% means he pays everything without
deducting for depreciation, like the X723 states elsewhere, ‘restore the principal

14 mpoIn taught us that one can always pay with 190%0n even 1210. The rule of 3"13% Pnw PR according to MaON
applies only to the nro, that the 2" accepts the depreciation loss. However he can always return the broken or dead
item for partial credit at the current price.
15 The P09 in 3,20 (2wown) MW reads; DPY? DY 00 7Y T¥ 0 T TIWH 712337 7123 XYL RYH7 OX.
16 The simple meaning is that he must return to the owner a live animal, but not a dead one; indicating that he cannot
use the 719721 as a partial payment. This contradicts the view of n1von (see footnote # 14),
17 The 709 in 33,7 XIP7 reads; "3 273 WX 72130 DR WD OWR) Xon? 2 7M; indicating that he must return the actual
item which he took, again indicating that he cannot return a broken item as partial payment,
18 The mod by writing 07w 01w o1 is teaching that only if they are still alive does the 213 avoid paying for the
market depreciation (he may return the animals as is and be exempt from paying anything else), however if the
animal died, then the 213 must pay for the difference in their value (but he can return the 7%°21 for partial credit).
19 The 127 M7a7 mends this to read 9271 02w 22w 01 (not 927 o2w>w o»n).
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as it was worth when he stole’ it.2°

- 21995353 ©Y9901 DYYYAN PRV 1P MNP ONNT PYITIT NYYITA ¥IYN 1)
And it also seems so in the 9217 71290 on 7P where he states there, ‘from

where do we derive that the owners do not occupy themselves with the 79521 -
= 22995N ND2) NNOAT ¥NIYWN DN XYY OHY DY DN 1NN 92 NAN 239 N

n'"'ax" responded it is written a%w" 2% 21 but not dead’; indicating that we
are discussing the 775731 nno.

NvOIN continues on a related matter:
= 1919 2309 190V NPT (% 91 NP NA2T NP 7992 9TYHN 229 997 XN 311 29

And according to this explanation; this which X'9 argues in the first P75 of

»''a noon where he maintains 3"13% 12 (not like xmw)>-
= 2505525 NN MM 91D NP 1PN NPYT NIMHNY v

We can prove that X"7 maintains that a change in a stolen item does not acquire
it for the thief, so therefore the depreciation loss is to the owners.

mMooIN asks:
= NP (1 97 80P X33) NIV NP9 ITYIHN 2297 9NN ON)

And if you will say; but R''2 himself states in 72y P79 -
=915 DHYa YINY %N NI DNDY Y19

You should know that by stealing we generally assume that there is 2°9p3 2N,

etc. X" proves it in the following manner -
= 2595W¥10 1INRT N9 GR PYYN NOANRT IN*AV NN

20 The case there is when one stole an animal and it depreciated by the 7213 and then it died; the 7573 must pay the
value it had at the time of the theft, not the lower value it had before it died. Similarly in the *»7217° when we say
o%w° 0w o»n it means that he has to pay the price it was worth when he stole it, regardless if it depreciated
afterwards (unless it is in the same condition, where he can return it as is, even though it is worth less now). [The
difference between the two interpretations is that according to the first interpretation we derive that the 3" must
may the nno from the P17 of the 2109 (only if 21 he can return it as is but not if 1nn); however according to the
second interpretation the word 0»n (which means 17 7°°1X) means that he must pay for the depreciation.]
2! This is referring to a 3" who stole an animal and it died.
22 See footnote # 9. In 2, "2 it appears from the X3 that 79°212 0¥990n a*9¥1 is referring to the Pran Aywn 79°21 NMd
172 770Y7 nYw 3. Therefore when in the 7w he asks (and »"aR7 answers) 7127232 2°250n DY PRY P, we are
discussing 77721 nno.
23 mooIn maintains that 3™3% 1MW X is referring to the 79°21 nno until P72 ARV
24 See footnote # 7.
25 See footnote # 12. If 1w is Anp the item for the 1973, he therefore (may enjoy the profit if the value increased, but)
must suffer the loss of depreciation. However since 7122 1°8 "11°w the depreciation is the loss of the owner.
26 Presumably X" means to say that just as by Amav it is Ywyn 37X that he is AP the cow (and pays M '7), so too by
7707 it is a valid sale through this mwn M. In order to be 'M '7 2’11 it must leave the N1 of the owner. The only
way M W can be a1p is if there is WX (so ANP MW WY WIRY); however if 72°13 ano is not 2°9v2 WX°, how can
the buyer acquire it that it should be considered a valid 771°57. This proves 0°9v2 wR° 72°13 onO.
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Just as by slaughtering his actions accomplished, so too by selling his action

accomplished -
= 270379 999N 212PY IN NN2AVT PYWYN 1IN 99N)

But what did he accomplish by 77152 if X"7 maintains that 7299 198 MW -
= IYYN NPV INIPY PYYN MINNRT ¥IYN NNIN

It seems that X" evidently assumes that »ww» 51X that he acquires the cow
with the 7wwn 919 of Amav; not like we derived from his ruling that 3"13% Paw —

NIBOIN answers:
= 1939 12397 NANT IND PYWYN NANT 9D YN

And one can say that when X" said Y@y 1278 by 720, he did not mean that it

accomplished in regards to 3°1p, that he acquired the cow, for n1p 11X "W -
- 289531920 HNYAVA PPN PO HPYHPY 19399 1NINT NN

But rather it means that ywy» 178 regarding destroying and causing a loss of
money by slaughtering the cow (the nn»av was effective practically; it cannot be undone) —

mooIn offers an alternate solution:
= PUNM 925INT NI IN IIINND NN 13990 2P NY MPYT 1Y 5HNRT NN ) ON

Or you may also say, this which X"7 maintains that s1p X% "w that is only

when it died by itself or the axe which broke by itself (there was no intention that the

cow should die or to break the axe) -
$AYYN PV %P NNV P 07 YAN

However, when it was done deliberately with his hands, for instance by 72w,
in that case even X" agrees that he is 719» with Fwyn s w.

SUMMARY

According to °"w7 when 21 ruled X°%¥n X311 72 29w 91, it meant that the HXW
keeps the broken axe, and must pay the 2°Xwn a new axe. According to Moo it
means that he may return the broken pieces as partial payment, but will receive
credit only for its current value, but not for its (higher) value at the time of
breakage.

THINKING IT OVER
n»doIN asks on *"wI; how can 27 rule that he pays him a X°%¥n X1, since all the

27 How can X"1 say that by 7m°av there is PWwyn 17X; it accomplished no P3p, since 1w (alone) is not npP?!
28 Therefore also 7721 is YWyn 1AR that it is a valid sale (it cannot be undone) and the cow is removed from the
owner, just like 77°2v definitely removes the cow from the owner, by destroying it.
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P11 MaR (including a PXW) can pay with 2v», which means that they can pay
even with 1210.2° However one may argue that when 3728 "1 stated 27w% nM2ax3 1210
2vn, he meant only the X7 of 2v*n that if (he has no money with which to pay
and he) pays with yp7p, he must pay 2v°n. However if he does not pay with ¥p7p,
he must pay with money (and if he has no money he must sell the 15v%vn for
money and pay with money?*°)?!

? See footnote # 4.
30 See X177 27 "7 X, 0 "2 'O,
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